Course: _MFM2P Gr. 10 Applied Lesson: _32

Unit:_Linear Systems Topic: Unit Review

® homework check: FM10 p. 216 #3,4,6 -9

B note: Unit Review
FM10 p. 226 #2,4,6,7,8,11, 12,13
FM10 p.228#1-32a,4,5,6, 8



Review of Key Terms i S 5.2 Soive Lmear Systems by
1. Explain the meanlng of each’ term in your ‘ Substltutlon pages 205 to 2

Clown words

‘a) hnear system :

b) pomt of mtersectlon
) substitution method
" d) elimination method

5.1 Solve Linear $ystems by
i Graphlng, pages 198 to 04




5.3 \Solve Lmear Systemsb | 5;4 f Solve Problems Involving Lmear
‘ Systems, pages 21910 225

Ve each linear system. ‘Which metho‘

,all‘ can be purchased?




Chapter 5 Practice Test

1. Solve by graphing.
a)y=2x+3
y=x-+4
b) y=3x—4

y=§x+\l
y=-5x+42

y=x+38

‘2. Solve by substitution. -
Ca)2x—y=3 .
x—y=4
Th)x=4y—3
2x+y=6
Qx—2y=7
x=3y+13

3. Solve by ehmmatlon

ra) 2x — y— '

: X—y==
“'b) 2x—y="—,2_ e
x+2y=9

Q) dx — 3y = 1'1
2x+3y=—

4. Solve the linear system \/Vhlch method ‘f‘ :

did you use? Why?
4x 45y =3
2x—3y=7

, c) How much will they each earn forv

- ¢ Under what c1rcumstances should
Ramona choose company A? L
Company B? Explaln :

5. a) Explain how you would solve thls

linear system.
y=7x+1
2x+y=10

b) What is the solution?

-6, Nathan and Vivek have part-time jobs at

the same company. Nathan is paid $10

- per shift and $4 for each item he makes in
‘his shift. Vivek is paid $40 per shift and

“$1 per item he makes, . ‘
‘a) Write a system of linear equatlons to

repr esent this 51tuat1on

-~ b) How many items must each person :

~'make in-one shift to. carn the same. -
~amount of money? =

“‘that shift?

~ 7. Ramona is planning to have graduatlon :
e sh1rts made. Company A charges a$40

~ set-up fee plus $5 per shirt for prmtmg :

* ‘Company B charges a $100. set-up fee

plus $2 per shirt for printing.
a) Write a system of linear equatlons to :
 represent this situation. : =

: b) Find the number: of shlrts for::

which the cost is the same for both o
companies.




T e :

Cnapter‘Problem Wrap-Up

To wrap-up his fundraising campaign, Logan
organized a dog show. The cost to rent the
park was $1300 plus $2.50 per person for
the snack bar fee. Logan charged $5 for each
student ticket and $8 for each adult ticket.
His total ticket sales were $3585 and the total
attendance was 525 people.
a) How many students attended the
. dog show?
b) How many adults attended the *
-dog show?
¢) How much money did Logan raise with
this event for the dog rescue organization?

i

e

The school sold 108 tickets for the spnng
‘Concert. Student tickets cost $2 each and
adult tickets cost $5 each. :

a) The concert proceeds were $351. How
many students attended?

‘b). If each of the 108 concert attendees :
paid an average of $3 for refreshments, . -
ﬁnd‘the total revenue from the

Lot ocomcert. 0 S

- 10. Barbara and her daughter Linda

are choosing.a new cell phone plan.

©) Describe a situation in which it was: CellularPlus charges $10 per month and

"‘heaper to rentequipment from -~ :$0.35 per minute for any minutes used:

Snowbound Adventures o a4 T durlng the month. CheapCell charges

S $20 per month and $0.15 per minute

for every minute used in the month. For

what number of minutes per month will -

. the plans cost the same amount?

0 the‘ inear system? What do the i
coordm‘ tes of the point of intersection” -
mean in terms of thissituation? " ;.-




